&

R

55 Slobe 5 Janl gy boks o las !

Sop i plae Wy Glal 5 e lag oy

Gy o&at b 58 s i oKl 5t

HIRGAN %
NISOC " = (‘ENERGY b
Mé}t3ﬁ°;%-jd?tﬁ/@&@t{w’ )\S
QLMJ o)\«ﬁ Typical Instrument Installation Drawing
‘ 1 i 6 Lo
053-073-9184 o550 |68 e [oaiSplo| g | wd, | Sy ps]| b | G 501 °
BK PPL PETCO 320 IN bW 001 D01

o vy g sl Aty sl o b

TYPICAL INSTRUMENT INSTALLATION DRAWING

S i e 2l 515 el

IFC: Issued For Comment
IFA: Issued For Approval
AFD:
AFC:
AFP:
AFQ:
IFl: Issued For Information

AB—R: As—Built for CLIENT Review

AB—A: As—Built — Approved

Approved For Design

Approved For Construction
Approved For Purchase

Approved For Quotation

DO1 APR.2024 IFI P.Hajisadeghi M.Fakharian S.Faramarzpour

DOO JUN.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

REV. DATE PURPOSE OF ISSUE/STATUS | PREPARED BY: | CHECKED BY: | APPROVED BY: | CLIENT APPROVAL
CLASS: 3 CLIENT Doc. Number:F2J—708590

STATUS: IDC: Inter—Discipline Check




&

R

Ko it ol W il s e lags 055 @‘

<S8 sl 58 Jlant dy) Lks &tas] PEDCO

S oo b ey )S Hlad cosis oK ! 5t

I
NIS0¢ S gLl 0 11y, ealn S8 @RGY E
tolen ol Typical Instrument Installation Drawing
053-073-9184 5sn | wm [oriSplo | g | a2, [Spnps| Jom | e a2 el
BK PPL | PETCO | 320 IN DW 001 DO1
REV. D00 | DO1 | DO2 | DO3 | D04 | DOS REV. DDO | DC1| D02 | DO3 | D04 | DO5
PAGE PAGE
1 X | X 26
2 X | X 27
3 X | X 28
4 X | X 29
5 X | X 30
6 X X 31
7 X | X 32
8 X | X 33
9 X | X 34
10 X | X 35
11 X | X 36
12 X | X 37
13 X | X 38
14 X | X 39
15 X X 40
16 X | X 41
17 X | X 42
18 X | X 43
19 X X 44
20 X X 45
21 X | X 46
22 X X 47
23 X | X 48
24 X 49
25 50

REFERENCE

1. SPECIFICATION FOR INSTRUMENTATION

. INSTRUMENT & CONTROL SYSTEM DESIGN CRITERIA

WMMAWMWMAWWMAMWWWWMMMW\

.

BK-GNRAL-PEDCO-000-IN-SP-0001(D04

BK-PPL-PEDCO-320-IN-DC-0001_DO1

é& INSTRUMENT CABLE TRENCH/ROUTE LAYOUT DRAWING  BK-PPL-PEDCO-320-IN-PY-0003_D02

NN NI NI NP NN P NN NN NP NI NI Y P N N NN,

N AN NN AN NN AN NN NN




S CHURNE TR RVOSU I Y BNORS KA SIS g

é u'@’)yrcéﬂ*‘

m S8 Sl 58 Jlant Wy Lol &l

S oo b ey )S Hlad cosis oK ! 5t

HIRGAN
NISOC S é;bﬁ o, s, el ;S @RGY E
tolen ol Typical Instrument Installation Drawing
053-073-9184 o35 |l am oS ol [ odps | owd, [ Spmps]| M | e 24 103 kool
BK PPL | PETCO | 320 IN DW 001 DO1
TITLE SHEET NO.REMARKS
SUMMARY SHEET 04 Aclded
<SUPPORT & STANCHION TYPICAL DETAIL>
PANEL MOUNTING/PIPE MOUNTING 05 Deleted
PANEL MOUNTING BRACKET/PIPE MOUNTING BRACKET 06 Deleted
SUPPORT AT GROUND LEVEL (GENERAL PURPOSED 0/ Deleted
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR TwO INS.SY 08 Deleted
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR THREE INS.S>| 09-10 Deleted
IRON SHEET CUTTING FOR SUNSHINE 11 Deleted
<JUNCTION BOX TYPICAL DETAIL>
JUNCTION BOX INSTALLATION , SINGLE (PAVED AREAD e Deleted
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREAD 13 Deleted
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREAD 14 Deleted
JUNCTION BOX INSTALLATION , SINGLE WUNPAVED AREAD 15 Modlified
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREAD 16 Deleted
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREAD 17 Deleted
<CABLE TRAY TYPICAL DETAIL>
CABLE ROUTE MARKER POSTS 18 Modlified
INSTRUMENT CABLE INSTALLATION AROUND JUNCTION BOX 19 Modified
INSTALLATION DETAIL FOR CABLE AROUND THE LOCAL INSTRUMENTS 20 Modlified
CABLE TRAY SUPPORT 1 Deleted
TYPICAL METHODS 0OF TRAY SUPPORT ee Deleted
CABLE TRAY SUPPORT c3 Deleted
CABLE TRAY SUPPORT c4 Deleted




&

R

S CHURNE TR RVOSU I Y BNORS KA SIS g

<S8 sl 58 Jlant dy) Lks &tas]
FHHF o b iy )S slad com o\ ! 5t

HIRGAN
N}[S 0] C " = ‘ENERGY ba
S 6,10 0 0 m 9ty el S8 C/
QLMJ OJ\&-Z Typical Instrument Installation Drawing
-} o .
053-073-9184 o550 |68 e [oaiSplo| g | wd, | Sy ps]| b | G 2504 ool
BK PPL | PETCO | 320 IN DW 001 DO1
ITEM DESCRIPTION QUANTITY |QTY+20%
1 | PLATE , 250X250X10T , CARBON STEEL 2 3
2 | EQUAL ANGLE , 50X50X5T , CARBON STEEL 2(meter) 3
3 BOLT,NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE , M8X20L , CARBON STEEL H.D.G. 4 5
4 | U-CHANNEL , 100X45X5T , CARBON STEEL 5(meter) 6
5 | EARTH LUG FLAT BAR , TWO HOLES ©6.5MM , 100X50X6T , CARBON STEEL 1 2
6 | EXPANSION BOLTS , M12X100L , CARBON STEEL H.D.G. 8 10
7 | BOLT AND NUT WITH 1—SPRING. 2—FLAT WASHERS (SUS) , M6X25L , CARBON STEEL H.D.G. | %20 (Note 1) 96
8 | STEEL CHANNEL WHITE COLOR PAINTED , 120X56X5T , STAINLESS STEEL 1420 (Note 1) 24
9 | ROUTE MARKER POSTS Site Activity -
10 | CABLE ROUTE MARKER SIGN (SUS) 1420 (Note 1) 24
NOTES :
1— AS PER IPS—-D—-EL—-208 , CABLE ROUTE MARKERS SHALL BE INSTALLED AT THE FOLLOWING LOCATIONS :
a) AT INTERVALS NOT EXCEEDING 20 METERS FOR STRAIGHT RUNS.

b) AT EVERY CHANGE OF DIRECTIGN.
) AT ROAD OR PIPE CROSSINGS.
)

c
d SPLICING POINTS.

NN




S STV TN RVSNT PR L BNORS R SR g @‘
s e g

m 58 Slole 58 glant dy) bgls slusd PEDCO
Gy o&at b e 58 i cosm oKt )

HIRGAN %
N}[SOC " _ ENERGY
S gl 0, doly , o Kealen 58 @ Hg

QLMJ oju Typical Instrument Installation Drawing
: T S ETREE . - 24 515 rais o s
053-073-9184 0350 [0 oS plo| DN |, [ Spae | Jom | e 7 2
BK PPL PETCO 320 IN bW 001 D01

DelETeD

PMEL MOUNTING

@ BOLTS FOR PANEL

G\ MOUNTING

BOLTS FOR TRANSMITTER \Y
MOUNTING

PIPE MOUNTING

2", U-BOLT FOR PIPE
MOUNTING




&

Sop i plae Wy Glal 5 e lag oy

m <S8 sl 58 Jlant dy) Lks &tas] PEDCO
NISOC o3 ol b ey 5 s s oKt ! e
S gl 0, doly , o Kealen 58 Q
QLMJ OJL& Typical Instrument Installation Drawing
053-073-9184 o |l ool ] s | w2, [Smpp] e | 2516 kel
BK PPL | PETCO | 320 IN DW 001 DO1
DELETED| Ao

PMEL MOUNTING BRACKET

|
4
mmuun

i

PIPE MOUNTING BRACKET

)

o _r"




S CIRE TSR KVSRW A - 51 RPRICR ) KA SIS i @‘
é oY Tk h
m 58 Slole 58 glant dy) bgls slusd PEDCO
Gy P e\/ir "T G eso )\f ‘)\wg S 925 ckixmﬁ )‘T HIRGAN %
S g5 ety oWl C/
QLMJ OJL& Typical Instrument Installation Drawing
‘ ) i oo
053-073-9184 o550 |68 e [oaiSplo| g | wd, | Sy ps]| b | G 50T °
BK PPL | PETCO | 320 IN DW 001 DO1
TRANSMITTER
WELDED
o
) //@
FOR IDENTIFICATION
ST S
eSs== i
SeSeSelels
° SIS _~ WELDED
3 NSe¥e% :
S S » %
& / z
q > '\V/
\ﬂ
<> .
o up 400
v
N
[\
WELDED
WELDED
=)
N2 O (D
4-HOLES @14 4-HOLES @14 5
. > FOR BOLTS M12/NUTS FOR BOLTS M12/NUTS ==
il Bl il = (3
250 \. STRUCTURE
350 250
400 350
FRONT VIEW FRONT VIEW o
CODE DESCRIPTION SIZE \Q{Y. MATERIAL
01 /| PIPE 2'g 1.6m CARBON STEEL
/32/ CAP 29 1 | CARBON STEEL
03 | STEEL ANGLE L 50x50x6t 0.65m | CARBON STEEL
04 | STEEL CHANEL UNP100 (100x50x5tx7.5t) | 0.8 m CARBON\STEEL
05 | BASE PLATE 350x350x10t 1 CARBON STEEL
06 | BOLT & NUT M12x30L 4 CARBON STEEL M.D.G.




S STV TN RVSNT PR L BNORS R SR g @‘
é PRI S

m <S8 sl 58 Jlant dy) Lks &tas] PEDCO
NISOC @)Zfi«eflb S 56 8 s ol 1 @GM@ ==
s & 510 0 0ty o Sealn U HE’
toles o4kt Typical Instrument Installation Drawing
053-073-9184 Son | e plo] e | 2, S| Jum | 4 w B el
B< | PPL | PETCO | 320 | ow | oo1 | Do

SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS

DbELeTED

WELDED

50
WELDED

WELDED

an] ./ W %

SIDE VIEW
WELDED

is}
M),

AN

N

18

j Zami
3
4 HOLES ¢12

CHANNEL BASE & FDN DETAIL

? (BOTTOM VIEW)

DESCRIPTION MATERIAL QUAN.REQ. UNIT
1 PIPE, SCH 40 (L:1150mm) 2" CARBON STEEL 1 Piece
2 PIPE, SCH 40 (L:450mm) 2" CARBON STEEL 2 Piece
3 PIPE, SCH 40 (L:400mm) 2" CARBON STEEL 1 Piece
4 CAP, SCH 40 2" CARBON STEEL \?\ Piece
5 PLATE 250 x 250 x 6t CARBON STEEL 1 Piece
6 EXPANSION BOLT M10 x 100L CARBON STEEL H.D.G. 4 Piece
7 STIFFENER PLATE 80 x 200 x 6t CARBON STEEL 4 Piece




&

R

Sop i plae Wy Glal 5 e lag oy

S8 sl 58 Jlant Jy) Lks &l
Gy o&at b e 58 i cosm oKt )

! PEDCO

HIRGAN
NIsoc " / G-
Mé)tjﬁcj%@tﬁ/Q&@L?ﬂ )\S
QLMJ OJL& Typical Instrument Installation Drawing
r i 0,
053-073-9184 o550 |68 e [oaiSplo| g | wd, | Sy ps]| b | G A9 ool
BK PPL PETCO 320 IN bW 001 D01
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS
WELDED
WELDED
WELDED
\@ WELD| { ;
- 1
g // 3
e g W7 o)
& SIDE VIEW 7
WELDED
| 7 e
i —
4 oS o2
2 CHANNEL BASE & FDN DETAIL
< 5 (BOTTOM VIEW)
212
DESCRIPTION MATERIAL QUAN.REQ. UNIT
1 PIPE, SCH 40 (L:1150mm) 2" CARBON STEEL 1 Piece
2 PIPE, SCH 40 (L:450mm) 2" CARBON STEEL 3 Piece
3 PIPE, SCH 40 (L:1000mm) 2" CARBON STEEL 1 Piece
4 CAP, SCH 40 2" CARBON STEEL é\ Piece
5 PLATE 250 x 250 x 6t CARBON STEEL 1 Piece
6 EXPANSION BOLT M10 x 100L CARBON STEEL H.D.G. 4 Piece
7 STIFFENER PLATE 80 x 200 x 6t CARBON STEEL 4 Piece




S VISR RV O 5| IO RS CP S S @‘
& ) oY ek h

m 58 Slole 58 glant dy) bgls slusd PEDCO
Gy o&at b 58 s i oKl 5t

HIRGAN %
N}[SOC " _ ENERGY
S gl 0, doly , o Kealen 58 @ Hg

QLMJ oju Typical Instrument Installation Drawing
: T S ETREE . - 24 5110 reis o)l
053-073-9184 0350 [0 oS plo| DN |, [ Spae | Jom | e 7 2
BK PPL PETCO 320 IN bW 001 D01

DELETED] o\

FRD FLAT COVER

‘ REFER COVER DRAWING
=30 FOR DETAIL

& SEE COVER CLAMP DETAIL

CONTACT MOULDED TYPE FLAT COVER
RECOMMENDED: ONE CLAMP FOR EVERY 1.5M

ﬁ, M8 THREADED HOLE

FOR 5316 HEXAGON BOLT
& M8 X 10 & SPRING WASHER
/@

%% Re%&c r cover of 3 meter
VER CLAMP DETAIL-SS316

(CC-SS)

CC-S§

LADDER TYPE| H WL| t A B REMARKS

LH 153 | 32 | 20 | 42 | 15 | W2=200,300,400,450,600




&

R

Sop i plae Wy Glal 5 e lag oy

<S8 sl 58 Jlant dy) Lks &tas]

PEDCO
NISOC Gy oWl b ey 518 [l ool oSy /..[ 51 ‘ggggég %
é(,&,ﬁkg)tjﬁejg_jdytﬁ/@&@w‘j\s C/ b
QLMJ OJL& Typical Instrument Installation Drawing
r i 0,
053-073-9184 o550 |68 e [oaiSplo| g | wd, | Sy ps]| b | G <450 ool
BK PPL PETCO 320 IN bW 001 D01

Weld
i 450 i
f
g
I ¢
—=—
HE ©OH

DbLeTED

i 400 i

N

k=4

—| 100 T«

~— 200 —

Stanchion (2" Pipe)

SUNSHADE MANUFACTURED AT SITE

PAINTED.

BY INSTRUMENT INSTALLATION CONTRACTOR,

FROM 2.31 MM THICKNESS CARBON STEE);” MOUNTED WITH 2" SIZE U-BOLTS, NUTS AND
WASHERS, ALL SHARP EDGES TO BE RE

VED AFTER CUTTING AND WELDING THEN

(Note 2)

Instrument

1100 (=

450

400
Devmnt of Fig. 1

DESCRIPTION SIZE QTY. I\NERIAL
STEEL ANGLE L 40x40x2.31t 0.9m CARBON STEEE,SCH4O

09

U BOLT & NUT WITH SPRING WASHER FOR 2" PIPE

2"0

CARBON STEEL




@ ) JERSS
m <S8 ool 58 Slant Jy) byls Shas] PEDCO
Gy ot b e 518 Jles e ot St

NISOC : -~ B ==
S g5l 20 a2y, el U @ &

X ST TR KWK JC RN B BITC K SIS @‘
h

QLQA:’ o_)\«»l Typical Instrument Installation Drawing
-} s .
053-073-9184 o35 [ an oS o] e | wt, [Sa g e | o 24 512 ke o)l
BK PPL PETCO 320 IN DW 001 DO1

JUNCTION BOX INSTALLATION , SINGLE (PAVED AREA)

DeleleD

TO BE DETERMINED AT SITE —-]

JUNCTION BOX B
L
E
0
g
|
z
= ﬁ >@ ﬁ
@
L
[ -
g o

o
&8 5 ®—
om
o @\
[
[an)
[od. | g E
i -
Jl SEE DETAIL "A @ @
N L
— [ 1

250
180
‘<—>‘ w« 10
o
n
N
L g
215
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QU’EN'RE UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 2 Piece
s EQUAL ANGLE 50 x 50 X 5t CARBON STEEL N2 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 5 Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6.5mm 100 x50 x 6t CARBON STEEL 1 Piece
5 EXPANSION BOLTS M12 x 100L CAREIO[’)\‘GSTEEL 8 ch
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARE'ODNSTEEL 4 Piece




Koo o gle Wy Goll 5w lag o5y

<S8 ool 58 Slant Jy) byls Shas]
G 3 s b a8 Las g ot 1

HIRGAN %
*-5:*“... S 3}%5;&.’49'5/()\5:@.. B C/
QLQA:’ o_)\«»l Typical Instrument Installation Drawing
! i o L2
053-073—9184 o59x |6 e [arSplo| Mg | wd, [ Spaepa| Yo | s “4 5018 2ole
BK PPL | PETCO | 320 IN ow | oot | Dpo1
JUNCTION BOX INSTALLATION , DOUBLE <PAVED AREA)
TO BE DETERMINED AT SITE
®
E \QNC-HON BOX JUNCTION BOX
@
=
;‘ 250
80
2 i i o) ] e
T L =
& 1
= &
o <
a —® 74% %{ :
" y 15
E § [eNei} | ‘ o g % DETAIL "A" @
SEE DETAIL "A” A/@
®\ﬁ
ITEM DESCRIPTION SIZE MATERI\AL\ QUAN-REQ |yt
Y PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 % 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x50 x 6t CARBON STEEL ‘2 Piece
5 EXPANSION BOLTS M12 x 100L CAREIO[’)\‘GSTEEL 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL 8 Piece




Koo o gle Wy Goll 5w lag o5y

<S8 ool 58 Slant Jy) byls Shas]

NISOC G5 oSl b S Sl o st 5] e =
&Hé)tgﬁeﬁ&tj/oki@@jw &
QLW o_)u Typical Instrument Installation Drawing
! tdoed 5
053-073-9184 o35 [ an oS o] e | wt, [Sa g e | o 24 5T 14 ke o)l
BK PPL PETCO 320 IN bW 001 D01

JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREA)

DeleleD

TO BE DETERMINED AT SITE

w &ION BOX JUNCTION BOX JUNETION BOX
n
=
<
)
g ~®
@
w
'LI_JD
(an)

oy, —®
w
0 @\

o
E gl oo | ‘o qi7

=) 4

SEE  DETAIL "A" @\ f

DETAIL

ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ |yt
1 PLATE 250 x 250 X 10t CARBON STEEL 3 Piece
W EQUAL ANGLE 50 x 50 X 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL K Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6.5mm 100 X 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CAREIO[’)\‘GSTEEL 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARE'ODNSTEEL 8 Plece




S T AR VR PN | P ROE RV SRS P @‘
é Y ke N
m <S8 ool 58 Slant Jy) byls Shas] PEDCO
NISOC G2 O\i&»_}[ G &,u )K )Ll.s S g5 o&ff )I ‘gg%%él;r %
S ol 2 0e )y, o Seslis S8 Q &
QLQA:’ o_)\«»l Typical Instrument Installation Drawing
053-073-9184 o59x |6 e [arSplo| Mg | wd, [ Spaepa| Yo | s 24 5115 ramie o)l
BK PPL PETCO 320 IN bW 001 DO1 /W\/WN\/\
TAG NUMBERS

JUNCTION BOX INSTALLATION , SINGLE (UNPAVED AREA)

JBD-D-3R01

—1 TO BE DETERMINED AT SITE 4~
® _
w JUNCTION BOX
=
9]
=
<C
D H
g
= ﬁ >@ ﬁ
o
w _
(ot o .
w o
[a] <~
a h) ®
E \‘ odi’ §
SEE  DETAIL "A” @\P
o & ) = & i = 5
e e LT % CONCRETE. BLOCK(SEE NOTE @ WA
., ! R i TR P A"“
A RS 250 Jetn e
R AN 7 <180 sy A 7
I TO BE DETERMINED AT SITE | AH %L{
! \ T =
o
n
N
L’%* %ﬁ(* =
g5
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ |yt
1 PLATE 250 x 250 x 10t CARBON STEEL 2 Piece
2 EQUAL ANGLE 50 % 50 x 5t CARBON STEEL 2 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 5 Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 X 50 x 6t CARBON STEEL 1 Piece
5 EXPANSION BOLTS M12 x 100L CARE{ODNGSTEEL 8 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL 4 Piece




S SIS RWNT R RO R SR g

B :f)')fTCL@.
<58 ol 58 st dy baks ol

Gy 5 Kt b s )'Lf Sles ol e oK Pt

HIRGAN %
N}[SOC . i . I I km ' K ‘ENERGY &
*-5:**3.‘5)3}%@;&-.’49'5/()\5:@.. B C/
QLQA:’ o_)\«»l Typical Instrument Installation Drawing
! timio :
053-073—9184 o59x |6 e [arSplo| Mg | wd, [ Spaepa| Yo | s “4 5116 2ole
BK PPL PETCO 320 IN DW 001 DO1
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREA)
<\@7TO BE DETERMINED AT SITE
u kﬂm BOX JUNCTION BOX
n
=
<
a
L
Z
. i i
o
w
'LI_J o
a g 4@
@ 0
E § o gi’ ‘o qi7
SEE DETAIL "A” q/@
& o = ‘
£ . - AA’ ~—~——CONCRETE BLOCK(SEE NOTE 2)
g . P 3 ‘A Wi
D - BN 7 250
} /{BE DETERMINED AT SITE } ‘<18—O>‘ A,H« 10
—n H o
ST I
Ip]
QU]
7$ % &
715
DETAIL "A”
|}ad DESCRIPTION SIZE MATERIAL QUAN-REQ | it
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL ?\ Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CARBON STEEL H.D.G 12 Piece
6 BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL H.D.G 8 Piece




Koo o gle Wy Goll 5w lag o5y

<S8 ool 58 Slant Jy) byls Shas]
G 3 s b a8 Las g ot 1

HIRGAN %
NISOC - = (‘ENERGY &
c‘i"‘ﬁ'.’é)t‘lﬁ ng_g.o).g-tj/ QK@LH,« )\5
QLQA:’ o_)\«»l Typical Instrument Installation Drawing
; 1 taas ol
053-073—9184 o59x |6 e [arSplo| Mg | wd, [ Spaepa| Yo | s “4 51T 0
BK PPL PETCO 320 IN DW 001 DO1
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREA)
TO BE DETERMINED AT SITE
®
w JU\N/\\ION BOX JUNCTION BOX JUNABOX
7
=
<
a
2
: i i i =
x
i
'LI_J o
[a) Sﬁ ——
oo~
0 @\
E § o gl ‘ oq Z
SEE DETAIL "A” A/@
o - i & : & & M ®\f“
e 4,“ ;\1 N . . f‘,A ) :4 : 7 : B 2 A,AA' P :
DR ) ¢ 3 PIPE ° TN PPEs o, e, ) 3 pPE.
¢ L, : : R ., - ) S B
= . © a7, ;i V4 B a g < . - P
} 10 BE DETERMINED ANSITE }
250
! 180 ! 10
7—% ﬁ— E
g I
0
(RT
@15
DETAIL "A"
|T}M/ DESCRIPTION SIZE MATERIAL QUANREQ | iy
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL \< Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CARBON STEEL H.D.G 12 Piece
6 BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEELH.D.G 8 Piece




e

SR

NISOC

E CTVRNETINN RVST JCREN L BPNONY R SR g

<S8 sl 58 Jlant Jy) bks @las!
&P Bt b esGs _)LS )L“g KOUPY-ii a\K;’...jf )I

égﬁ%é)ljﬁgﬁ&tg/q&@@ )S

S

PEDCO

HIRGAN %
( ‘ENERGY z

h;)t“ﬁi °J\“5‘

053-073-9184

Typical Instrument Installation Drawing

835z

u?)\g‘““%

S plo | s | @, S ps| S

24 5118 rdeio ol

BK

PPL

PETCO 320 IN bW

001

DO1

CABLE ROUTE MARKER POSTS

FOR MASONRY ANCHOR

® ®
o
Q Ld ®
| |
= —— CONCRETE OR ©
e FINISHED GRADE T /@
2 S NS ‘ ‘ NS ASPHALT PAVING !
iy \ 2 l Pz p
S | |
: - TTe
\ \
O
ip]
® -
VS
\ \
—0 o /®
o [ R ]
o ;‘j N
QU]
~ [ ©INSTR. CABLE®
SIGN "C”
‘ 250 ‘
” ” . ”
TYPE A" UNPAVED AREA TYPE B™ PAVED AREA
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. %LJN|T
1 CABLE ROUTE MARKER SIGN (SUS) Z 1 2 Piece
2 BOLT AND NUT WITH 1-SPRING. 2-FLAT WASHERS (SUS) M6 x 25L CARBON STEEL H.D.G.E 4 % Piece
TYPE"A"
3 STEEL CHANNEL WHITE COLOR PAINTED 120 x 55 x 5t STAINLESS STEEL E 1 % Piece
4 ROUTE MARKER POSTS E Site Activity % -
1 CABLE ROUTE MARKER SIGN (SUS) g N/A Piece
2 SPACER MORTAR ? N/A g Piece
TYPE"B"
3 MASONRY ANCHOR WITHOUT STUD-M6 g N/A s Piece
4 ROUND HEAD BOLT WITH 1-SPRING. 1-FLAT WASHER (SUS) . M6 x 25L CARBON STEEL H.D.G. N/A % Piece




S CIVE T IR PRV | P RCEA RV GRS gy @‘
i Y ke N

m 58 slole 58 gt By Lolks ol PEDCO
NISOC Gy P é@rtb C COUR LN K ROV o%r 51 ‘%@%g %
S .'.é))ﬁbj%&tﬁ/Q&@Lﬁng)\S (/ 1&7

:Qkﬁ 0)\4:4 Typical Instrument Installation Drawing
053-073-9184 o |6 am oS plo | o | a2, [ S ps| b | o 245119 o0l
BK PPL PETCO 320 IN bw 001 Do1

INSTRUMENT CABLE INSTALLATION AROUND JUNCTION BOX

MULTI CABLE

JUNCTION BOX

NON. HARDENING SEALING COMPOUND

BUSHING IR

\_CONDUIT PIPE

AL

SEE DETAIL’A"

N \\; N\

SAND FILLING

RIGID STEEL GALVANIZED CONDUIT

NOTES :

1— ALL ITEMS IN THIS PAGE WILL BE CONSIDERED IN CABLE TRAY MTO.

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 CABLE TRAY WITH COVER Width=300 mm CARBON STEEL H.D.G. Note 1 Meter
2 CONDUIT 3" CARBON STEEL H.D.G. Note 1 Meter
3 BUSHING 3" CARBON STEEL Note 1 Piece




S CUUINETRRN RVWANW P 1 RIHEY R RS e @‘
& O N

m 8 sl 58 Jlant Wy Lols &l PEDCO
éﬂ)}o&wfb&ﬁ;@)m \;U;ésakix‘%[)'l

NISOC " c ey =
%é)tjﬁgﬁgtg/q&@@jg @ b

:Q\«sﬁ oJ\.o_.i'a Typical Instrument Installation Drawing
053-073-9184 o3sn | oS plo | odgs | ah, [ S| o | e 2 oh R0 >
BK PPL PETCO 320 IN bW 001 DO1

INSTALLATION DETAIL FOR CABLE AROUND THE LOCAL INSTRUMENTS

NOTES :

1— ALL ITEMS IN THIS PAGE WILL BE CONSIDERED IN CABLE TRAY MTO.




e

E CTVRNETINN RVSNT JCREN L BPNORS R SRS g

S

PEDCO

HIRGAN
( ‘ENERGY

Ji5

m 58 sl 5 Jhanl dy Loks o las
NISOC Gy p ot b esln 58 Jlas eu i o0t St
é(;,:%é)tjﬁ QJ%_]JQIg/ QL&@L&«: )\S
:Q‘«»g oJ\@Z Typical Instrument Installation Drawing
053-073-9184 5o [ e fautSpslo | g | ws, [ Sy S | e
BK PPL PETCO 320 IN bW 001 DO1

24 ;1 21

cdodn o)u

vvv
A
vy

san
aan

CONCRETE WALL

CABLE TRAY SUPPORT

DeLe TED

vvv

Twws

(XX
NAA

VIEW "A”

SUPPORT TO CONCRETE WALL

NOTES :
1— SIZE & NUMBER

TRAYS TO SUIT QUANTITY & SIZE OF

18mm DIA. FOR

16mm BOLTS

200
2560

BASE PLATE (TYPICAL)

INST. CABLES.

= | No.| SIZE IN

& | Yo MATERIAL REMARKS
£ |REQ | MILLIMETER DESCRIPTION

1 - 40x40x6mm ANGLE,EQUAL MILD STEEL

2 - 6x100mm BAR,FLAT MILD STEEL

3 - 6mm BASE PLATE,STRUC.QUALITY,250x200mm MILD STEEL

4 - 200mm CABLE TRAY WITH COVER GALVANZED STEEL

5 - 16mmx115mm FOUNDATION BOLT (RAWL BOLT) MILD STEEL

6 — M6Ex20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL

7 - 8mm WASHER, ROUND FLAT GALVANIZED STEEL




e

E CTVRNETINN RVSNT JCREN L BPNORS R SRS g

S

m 8 sl 58 Jlant Wy Lols &l PEDCO
NISOC Gy ot b e, 58 Jlas e ol o8 /,,r 51 e e
o sy l3 o 11y, olSeals 56 O [I5
:Q‘«»g 0)1@3 Typical Instrument Installation Drawing
053-073-9184 STETN V3| e PNTELGEI R W3 SR E- BRI Y BN | e 2451 RR ool
BK PPL | PETCO | 320 IN W 001 DO1

TYPICAL 90° CHANGE IN

DIRECTION OF CABLE TRAY

VIEW "A

TYPICAL METHODS OF TRAY SUPPORT IN

DELETED

WELDED

|

(TYPICAL)
[
(2)
(TYPICAL)
WELD
(TYPICAL)
(TYPICAL
= | No.| SIZE IN
= DESCRIPTION MATERIAL REMARKS
& REQ |MILLIMETER
1 — 40x40xBmm ANGLE,EQUAL MILD STEE\
2 - Bx50mm BAR,FLAT MILD STEEL
3 — 10x250mm MOUNTING STRIP Ss.
4 - 70mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 — 70mm RISER,UNIVERSAL,INNER BEND 90" WITH COVER GALVANIZED STEEL
6 — 70mm RISER,UNIVERSAL,OUTER BEND 90" WITH COVER GALVANIZED STEEL
7 — 70mm BEND,SECTIONAL WITH COVER GALVANIZED STEEL
8 — MBx20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVINAZED STEEL
9 — 8mm WASHER, ROUND FLAT GALVINAZED STEEL




e

E CTVRNETINN RVSNT JCREN L BPNORS R SRS g

S

m 38 ol /‘)'\.TJL&:JTJQ Lohs wtusl PEDCO
NISOC Gy ot b e, 58 Jlas e ol o8 ;r 51 e e
é(;#é)bﬁg)%@b/@&@@js C/ b
:Q‘«»g oJ\@Z Typical Instrument Installation Drawing
053-073-9184 STETN V3| e PNTELGEI R W3 SR E- BRI Y BN | el 2450 R >
BK PPL PETCO 320 IN DW 001 D01
CABLE TRAY SUPPORT
< > |
18mm DA, FOR 16mm BOLTS WELD
St ® @/ s
|/ S
% |
( : J—— gl 3 /g
N o
@ ® (TYPICAL)
200
250 i
() S
o
<
~r— WELDED
NO. OF TRAY X 8
500mm
900mm
3 1300mm SUPPORT TO CONCRETE CEILING
OTES :
1— ALL DIMENSIONS IN MILLIMETER AUNLESS OTHERWISE STATED.
P— X & Y LENGTHS TO BE DETJERMINED AT SITE ACCORDING TO NUMBER OF CABLE TRAY.
E No SIZE IN DESCRIPTION MATERI REMARKS
£ REQ [MILLIMETER
1 — 40x40x6mm ANGLE,EQUAL MILD STEEL
2 | — 60x60x8mm | ANGLE ,EQUAL MILD STEEL
3| = Bmm BASE PLATE,STRUC.QUALITY,250x250mm MILD STEEL
4 —_ 500mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 — 16mmx50mm FOUNDATION BOLT (RAWL BOLT) MILD STEEL
6 — M6x20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL
7 | = 8mm WASHER, ROUND FLAT GALVANIZED STEEL




e

E CTVRNETINN RVSNT JCREN L BPNORS R SRS g

S

m 38 ol /‘)'\.TJL&:JTJQ Lohs wtusl PEDCO
NISOC Gy ot b e, 58 Jlas e ol o8 ;r 51 e e
é(;#é)bﬁg)%@b/@&@@js C/ b
:Q‘«»g oJ\@Z Typical Instrument Installation Drawing
053-073-9184 STETN V3| e PNTELGEI R W3 SR E- BRI Y BN | el 245t e >
BK PPL PETCO 320 IN DW 001 D01
CABLE TRAY SUPPORT
O - T
—
WELDED @
o 8
1 i
i £ (TYPICAL)
>< ><
[=]
g
WELDED
(@)
<
i i = 8
o g
SUPPORT TO STEEL STRUCTURE SUPPORT TO STEEL COLUMN
NO. OF TRAY X NO. OF TRAY X
1 500mm 1 500mm
2 900mm 2 900mm
1300m 3 1300mm
NOTES :
1— ALL DIMENSIONS IN MILLIMETER/UNLESS OTHERWISE STATED.
2— X & Y LENGTHS TO BE DEAERMINED AT SITE ACCORDING TO NUMBER OF CABLE TRAY.
E No SIZE IN DESCRIPTION MATERTAL REMARKS
£ |REQ |[MILLIMETER
T — 40x40x6mm ANGLE,EQUAL MILD STEEL
2| — 60x60x8mm | ANGLE ,EQUAL MILD STEEL
5| = 6mm BASE PLATE,STRUC.QUALITY,250x250mm MILD STEEL
4 — 500mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 | — 200mm CABLE TRAY WITH COVER GALVANIZED STEEL
6 - 18mmx50mm | BLACK BOLT & NUTS,HEAVY SEREIS STEEL
7 M6x20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL
s | — 8mm WASHER, ROUND FLAT GALVANIZED STEEL




	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst
	BK-PPL-PEDCO-320-IN-DW-0001 Typical Inst

